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BERS . R 54108 18 (A) FrVESTLIVST
BEAE . HRYTAR (BFEHEEL) SMAH: BOA (B : 58N - & :1X)
HDCPLRR :  18.9 HHOYITHR : ¥ ITLs— (PAR x 2)
BLA—IL: 0T ODOGE@®®® IN DRBBB® 1/2
RIBLLRE : T v FUFH—F(JORIE) -HovkiRvy Rl : %0 54108 18 (A)
IR 432 SmME % ouT IN GROSS HDCP NET w%E
B B %R 55— 39 37 16 10.4 | 65.6 |AE
EWH BR XE 41 37 18 12.3 | 65.7 |AE
3 L /M Th 37 43 80 13.8 | 66.2 |AE
4 41D 5hAT 42 43 85 17.3 | 67.1
5 {1 % 46 42 88 18.9 | 69.1
6 iz BH FA 46 42 88 18.5 | 69.5
16 T 82 44 40 84 14.4 | 69.6
8 fii g K ERA 45 41 86 16.1 | 69.9
9 fif | =H B 43 43 86 16.0 | 70.0
10 iz /N BATT 40 40 80 9.8 | 70.2
11 4 | =K A 39 41 80 9.7 | 70.3
12 i |/hu BF 42 34 16 9.5 | 710.5 |BG
13 i |/Mk KREER 48 43 91 20.3 | 70.7
14 i1 8% BR 39 38 17 9.6 | 71.4
15 i |#fIU B 38 44 82 10.5 | 71.5
16 £ | HH #E 41 44 85 12.7 | 72.3
17 i |[RA —5 46 37 83 10.3 | 72.17
18 i |[1&ik BE 43 43 86 13.3 | 72.1
19 4z |#0 —BR 44 44 88 15.3 | 712.17
20 £ | BRIl /NKER 41 47 88 14.9 | 73.1
21 fi | K% EF = 41 43 84 10.8 | 73.2
22 i1 | FhiL £ BA 46 45 91 17.4 | 73.6
23 i | HIEE X 48 44 92 18.0 | 74.0
24 £ | PR 7® 43 42 85 10.7 | 74.3
25 £ |/hith BLE 45 42 87 12.7 | 714.3
26 i |BAH FRHE 49 45 94 18.9 | 75.1
27 1 | R & 43 41 84 8.7 | 75.3
28 £ |#nK IE4h 43 42 85 9.6 | 75.4
29 4 |#% i 44 44 88 12.5 | 75.5
30 i | TN & 38 43 81 9.4 | 75.6
31 I {55k 18§ 46 49 95 18.9 | 76.1
32 4L [N BX 48 47 95 18.4 | 76.6
33 I | THk E— 46 41 817 10.1 | 76.9
34 i | BE Fif 47 42 89 12.0 | 77.0
35 fif | LW L 45 43 88 10.9 | 717.1
36 i £k BA 50 46 96 18.9 | 71.1
37 1 %H KB 49 47 96 18.9 | 71.1
38 4 | &4 BAE 52 44 96 18.8 | 11.2
39 fz B0 JefE 48 43 91 13.0 | 78.0
40 4z ¥ B 49 48 97 18.9 | 78.1
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I 432 SmES ouT IN GROSS HDCP NET 3

M 5L | KE =1 46 46 92 13.5 18.5

42 f1 |#&E& SFF 95 43 98 18.9 79. 1

43 41 |EFEAR #hZER 49 49 98 18.2 719.8

44 41 |BA$ BA| o1 48 99 18.9 | 80.1

45 fiI |i=EE H2 iy 92 99 18.7 80.3

46 4L |[F5 K HEFF 52 49 101 18.9 | 82.1

AT 51 |k KH iy o4 101 18.9 | 82.1

48 1 |FH =& 53 47 100 17.0 | 83.0

49 1 g5 K —E 46 o0 96 13.0 | 83.0

50 {31 | A BH 45 02 97 13.0 | 84.0

51 i | & REZE # 46 49 95 10.8 | 84.2

92 i He —#Ht 49 49 98 13.7 84.3

53 {i |HiE I1EIf 48 92 100 14.0 | 86.0

54 i {kBE =BB 51 ol 102 15.8 | 86.2

5 i | EEEE B 48 06 104 17.1 86.9

56 i |#rEE FAI 60 48 108 18.7 89.3




